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Lecture (8) 18/1/2021 
 

 

One-storey concrete building is shown in figures (1) below, depending on following data: Dead load 4 kN/m
2
, 

Live load 6 kN/m
2
, Beam dimension (0.4 ×0.6 m), column dimension (0.4 × 0.6 m), slab thickness 0.2 m, height 

of floor 4m, cover 40mm, No. of division 5 × 5, fy= 350 MPa, fu= 550 MPa, fc= 25 MPa, ɣc= 24 

kN/m
3
, 4700cE fc and the supports are considered fixed. Construct a model by using SAP2000 and answer 

on the following: 

 1- Find the maximum and minimum reactions with unit in (kN).                                                      

2- Find the deflections of X1and X2 in millimeters (mm).                                                               

3- Find the maximum positive moments in Slab (S) in (kN.m) at X and Y directions.                    

4- Find the maximum moments, shears in beams (B1-1 and B2-2).                                                       

5- Find the moment and shear in section (a-a) at 1m from column.                                             

 

 
 

 ملاحظات مهمة:

 .4 هو zوعدد المحاور باتجاه  5هو  xعدد المحاور بالاتجاه  -1

 يحتاج الى تغيير ليكون كما يلي: yو xباتجاه  المحاور -2
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 .90تغيير بالمحاور بزاوية  الاعمدة تحتاج الى -3

 

1- The maximum Reaction with unit in (kN) = 661.1                         minimum= 170.49                                                                      

2- The deflection of X1=  4.44 mm                X2 = 3.21 mm                                                                              

  3- The maximum positive moment in Slab (S)  x direction =  13.52 kN.m           y =  18.23 kn.m                        

4- The maximum moments, shear and in beams (B1-1 and B2-2).                                                                     

B1-1 

Moment Shear 

205.5 kN.m 174.5 kN 

    

B2-2 

Moment Shear 

161.1 kN.m 173.3 kN 

 

5- Find the moments and shear in section (a-a) at 1m from column                                                                 

Section a-a 

Moment Shear 

55.3 kN.m 121.5 kN 
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Structural Analysis using of SAP 2000. 

 

 SAP2000ٔيٍ ثى  computer and structure( ٔيٍ ثى start ابذا ) فحح انبرَايج عٍ طريق  -1

 

 
 

 انحعرف عهى ٔاجٓة انبرَايج -2

 

 
 

 kN.mيع جغيير انٕحذات انى  new modelَخحار يٍ قائًة   -3
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 لاخحار جحهيم نجسر اعحيادي Beamَخحار  -4

 

 
 

 

 

 جظٓر نُا انقائًة انحانية: Beamبعذ اخحيار  -5
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Number of span=  3ذ اَيكٌٕ عذد انًس 2فارا عهى سبيم انًثال  انفضاءاتعذد  

Span length=  2د انفضاءات ْٕ باعحبار اخحيار عذ يحر 11يكٌٕ طٕل انجسٕر ْٕ  و 5انًسافة بيٍ يسُذ ٔاخر فعُذ اخحيار يثلا  

Beams= يٕافق َٕعية انًقطع كَٕكريث أ حذيذ أ غيرْا ٔيًكٍ جعريفّ لاحقا بعذ انضغظ عهى  

 

  3ٔعذد انًساَذ  2بعذ انضغظ عهى يٕافق جظٓر انقائًة ادَاِ ٔجبيٍ عذد انفضاءات 
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Structural Analysis using of SAP 2000. 
 

A two-dimension concrete beams as shown in figures below, a dead loads were applied on this frame. 

Depending on the following assumptions:  

Beam dimension (0.25 × 0.5 m), and dead load factor 1.4, answer on the following: 

1- Find the maximum Reaction with unit in kN.                                                                           

2- Find the maximum deflection in millimeter (mm).                                                                    

3- Find the maximum moment and shear in the beams.                                                                
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Lecture (5) 29/12/2020 

 

A two-dimension concrete frame as shown in figures (1) below, a dead loads were applied on this 

frame. Depending on the following assumptions:  

Beam dimension (0.3 × 0.5 m), column dimension (0.3 × 0.3 m), dead load factor 1.4 and the 

supports are considered hinge, answer on the following: 

1- Find the maximum Reaction with unit in kN.                                                                 

2- Find the maximum deflection in millimeter (mm).                                                          

3- Find the maximum moment and shear in the beams.                                                   

 

 

 

 
 
 
 
 
 
 

 

 

 

 

Dr.Bassim Jabbar Abass 

 

 ملاحظات مهمة:

 3هو  zوعدد المحاور باتجاه  4هو  xعدد المحاور بالاتجاه  -1

 متر 5.5 =2.5+3يحتاج الى تغيير ليكون  zالاخير باتجاه  المحور -2

 تحتاج الى تغيير ليكون  xباتجاه   المحاور -3
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A two-dimension concrete frame as shown in figures (1) below, a dead loads were applied on this frame. 

Depending on the following assumptions:  

Beam dimension (0.3 × 0.5 m), column dimension (0.3×0.3 m) and dead load factor 1.4, answer on the 

following: 

1- Find the maximum Reaction with unit in kN.                                                                           

2- Find the maximum deflection in millimeter (mm).                                                                    

3- Find the maximum moment and shear in the beams.                                                                

 

 

 
 
 
 
 
 
 

 

 
 ملاحظات مهمة:

 3هو  zوعدد المحاور باتجاه  4هو  xعدد المحاور بالاتجاه  -1

 متر  6 = 2+ 4 يحتاج الى تغيير ليكون  zالاخير باتجاه  المحور -2

 تحتاج الى تغيير ليكون  x باتجاه  المحاور -3

0 
3 
8 

13 
 والعمودية يكون اتجاه القوة الى الاسفل والافقية الي اليسار كما مبين ادناهكن يتم تحليلها الى قوتين عمودية وافقية  151القوة  -4

 
 

150 Cos 45 = 106  

150 Sin 45 = 106 
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Lecture (6) 5/1/2021 
 

Q.7   A two-dimension concrete frame as shown in figures (1) below, a live loads were applied on this 

frame. Depending on the following assumptions:  

Beam dimension (0.3 × 0.5 m), column dimension (0.3×0.3 m), the dead load factor 1.2 and live load factor 

1.6 and the supports are fixed answer on the following: 

1- Find the maximum Reaction with unit in kN.                                                                           

2- Find the maximum deflection in millimeter (mm).                                                                    

3- Find the maximum moment and shear in the beams.                                                                
 

 

 
 

 

 

 

Dr.Bassim Jabbar Abass 

 
 

 ملاحظات مهمة:

 3هو  zوعدد المحاور باتجاه  3هو  xعدد المحاور بالاتجاه  -1

 مترz = 6الاخير باتجاه  لمحورا -2

 تحتاج الى تغيير ليكون  xباتجاه   المحاور -3
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Lecture (9) 19/1/2021 
 

A concrete building is shown in figures (1) below, depending on following data: Dead load 6 kN/m
2
, Live load 

4 kN/m
2
, Beam dimension 0.3 × 0.6 m, column dimension 0.3 × 0.3 m and slab thickness 0.2 m, No. of division 

4 × 4, cover 40mm, fy= 350 MPa, fu= 500 MPa, fc= 25 MPa, ɣc= 24 kN/m
3
, 4700cE fc and the supports are 

considered fixed. 

1- Find maximum moment, shear and torsion in B1-1.                                                                                    

2- Find the deflection at X in millimeter.                                                                                    

3- Find maximum negative and positive moments in X and Y directions for S. 

4- Find maximum and minimum reactions.                                                                                                                                  

Use 1.2 × dead load and 1.6 × live load 
 
 

 
 
 
 
 
 
 

 ملاحظات مهمة:

 2هو  zوعدد المحاور باتجاه  4هو  yوعدد المحاور باتجاه  3هو  xعدد المحاور بالاتجاه  -1

 تكون كما يلي:  yاباتجاه  وراالمح -2
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 :09تحتاج الى تغيير بالمحاور بزاوية لا الاعمدة  -3
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A two-dimension concrete frame as shown in figures (1) below, dead loads were applied on this frame. 

Depending on the following assumptions:  

Beam dimension (0.25 × 0.5 m), column dimension (0.25×0.3 m) and dead load factor 1.4, answer on the 

following: 

1- Find the maximum Reaction with unit in kN.                                                                           

2- Find the maximum deflection in millimeter (mm).                                                                    

3- Find the maximum moment and shear in the beams.                                                                
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 ملاحظات مهمة:

 3هو  zوعدد المحاور باتجاه  4هو  xمحاور بالاتجاه عدد ال -1

 متر6 =2+4يحتاج الى تغيير ليكون  zالاخير باتجاه  المحور -2

 تحتاج الى تغيير ليكون  xباتجاه   المحاور -3
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Lecture (10) 26/1/2021 
 

One-storey concrete building is shown in figures (1) below, depending on following data: Dead load 5 kN/m
2
, 

Live load 7 kN/m
2
, Beam dimension (0.4 × 0.6 m), column dimension (0.4 × 0.6 m), slab thickness 0.2 m, floor 

height 4 m, dead load factor 1.2, live load factor 1.6, No. of division 4 × 4 and the supports are considered 

fixed.  fy= 350 MPa, fu= 550 MPa, fc= 21 MPa, ɣc= 24 kN/m
3
, 4700cE fc  and cover 30 mm. 

 Answer on the following: 

1- Find the deflection of X1 and X2 in millimeters (mm).                                                                 

2- Find the maximum and minimum reactions.                                                                                

3- Find moment, shear and torsion in 1m from the lower support and at the mid span for B1_1.             

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 ملاحظات مهمة:

 2هو  zوعدد المحاور باتجاه  4هو  yوعدد المحاور باتجاه  5هو  xعدد المحاور بالاتجاه  -1

 متر 14.75 =2+4.25+4.25+4.25يحتاج الى تغيير ليكون  xالاخير باتجاه  المحور -2

  90جميع الاعمدة الوسطية تحتاج الى تغيير بالمحاور بزاوية  -3
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Lecture (11) 2/2/2021 
One-storey concrete building is shown in figures (1) below, depending on following data: Dead load 5 kN/m

2
, 

Live load 7 kN/m
2
, Beam dimension 0.3 × 0.6 m, column dimension 0.3 × 0.5 m and slab thickness 0.2 m, 

height of floor 4m, cover 30mm, the supports are considered fixed No. of division 5 × 5, fy= 350 MPa, fu= 550 

MPa, fc= 21 MPa, ɣc= 24 kN/m
3
 and 4700cE fc . 

Answer on the following: 

1- Find the deflection of X1 and X2 in millimeters (mm).                                                                 

2- Find the maximum and minimum reactions.                                                                                 

3- Find moment, shear and torsion in 1m from the left support and at the mid span for B1-1 and B2-2. 

4- Find maximum moments in X and Y directions for S1.              

 

 

 

 
 

Dr.Bassim Jabbar Abass 

 ملاحظات مهمة:

 2هو  zوعدد المحاور باتجاه  4هو  yوعدد المحاور باتجاه  5هو  xعدد المحاور بالاتجاه  -1

 متر 15.5=  =4.5 + 4.5 + 4.5يحتاج الى تغيير ليكون  xالاخير باتجاه  المحور -2

  90جميع الاعمدة الوسطية تحتاج الى تغيير بالمحاور بزاوية  -3
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Lecture (13) 16/2/2021 

 
One-storey concrete building is shown in figure below, depending on following data: Dead load 6 kN/m

2
, Live 

load 4 kN/m
2
, Beam dimension (0.3 × 0.6 m), column dimension (0.3× 0.6 m) slab thickness 0.18 m, floor height 

3.5 m, dead load factor 1.2, live load factor 1.6, No. of division 4 × 4 and the supports are considered bins.  fy= 

350 MPa, fu= 550 MPa, fc= 25 MPa, ɣc= 24 kN/m
3
, 4700cE fc  and cover 30 mm. 

 Answer on the following: 

1- Find the deflection of X1 and X2 in millimeters (mm).                                                                 

2- Find the maximum and minimum reactions.                                                                                 

3- Find moment, shear and torsion in 1m from the lower support and at the mid span for B1-1 and B2-2. 

4- Find maximum moments in X and Y directions for S1.   

 

 

 

           

 
 

 

 

 ملاحظات مهمة:

 2هو  zوعدد المحاور باتجاه  4هو  yوعدد المحاور باتجاه  5هو  xعدد المحاور بالاتجاه  -1

 متر19.5=1.5+6+6+6يحتاج الى تغيير ليكون  xالاخير باتجاه  المحور -2

  90جميع الاعمدة الوسطية تحتاج الى تغيير بالمحاور بزاوية  -3
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4700cE fc

Lecture (14) 23/2/2021 
 
Two-storey concrete building is shown in figures (1) below, depending on following data: Dead load 5 kN/m

2
, Live 

load 8 kN/m
2
, Beam dimension (0.4 ×0.6 m), column dimension (0.4 × 0.6 m), slab thickness 0.2 m, floor height 4.5 

m, dead load factor 1.2, live load factor 1.6, No. of division 4×4, the supports are considered fixed, fy= 350 MPa, fu= 

550 MPa, fc= 25 MPa, ɣc= 24 kN/m
3
, cover 30 mm and                        . 

Construct a model by using SAP2000 and answer on the following: 

 1- Find the maximum Reaction with unit in (kN).                                                                             

2- Find the deflection of X1and X2 in millimeters (mm). 

3- Find the maximum negative moment in Slab (S) in (kN.m) at X and Y directions.                     

4- Find the maximum moments, shear and torsion in beams B1-1 and B2-2.                             

5- Find the moments and shear in sections (a-a) at the mid span and (b-b) at 1m from column.   

 

 
 ملاحظات مهمة:

 متر.  0.5بحيث نلغي المحور الاول   5ومن الممكن عمله  6هو  zوعدد المحاور باتجاه  5هو  xعدد المحاور بالاتجاه  -1

 يحتاج الى تغيير ليكون كما يلي: yو xباتجاه  المحاور -2

 

 

 

 
 

 

 في الطابق الثاني. 1)في الجهة السفلية والجهة اليمين( بينما عدد الاقواس  2في الطابق الاول عدد الاقواس  -3

 الانتباه الى اتجاه الاعمدة بحيث يكون كما في الرسم. -4

 الثاني كما موضح في الرسم.الطابق سقف الطابق الاول والبعض الاخر في  سقف المطلوب يكون بعضها في -5
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Lecture (15) 2/3/2021 
 
Two-storey concrete building is shown in figures (1) below, depending on following data: Dead load 5 kN/m

2
, Live 

load 8 kN/m
2
, Beam dimension (0.4 ×0.6 m), column dimension (0.4 × 0.6 m), slab thickness 0.18 m, first floor height 

4m and second floor height 3m, dead load factor 1.2, live load factor 1.6, No. of division 5×5, the supports are  

considered fixed, fy= 350 MPa, fu= 550 MPa, fc= 25 MPa, ɣc= 24 kN/m
3
, cover 30 mm and                        . 

Construct a model by using SAP2000 and answer on the following: 

 1- Find the maximum Reaction with unit in (kN).                                                                             

2- Find the deflection of X1and X2 in millimeters (mm). 

3- Find the maximum negative moment in Slab (S1) in (kN.m) at X and Y directions.                     

4- Find the maximum moments, shear and torsion in beam B1-1.                             

5- Find the moments and shear in sections (a-a) and (b-b) at the mid span.   

 

 
 

 ملاحظات مهمة:

 .Z = 3وعدد المحاور باتجاه  y = 4المحاور باتجاه  وعدد x = 6عدد المحاور بالاتجاه  -1

 2.5= 17-5..1البعد الاول يمكن استخراجه من  -2

 يحتاج الى تغيير ليكون كما يلي: yو xباتجاه  المحاور -3

 

 

 (.4,  7.5,  0احداثيات القوس الاول على اليسار النقطة الثالثة ) -4

 (.4، 7.5, 16.75احداثيات القوس الثاني على اليمين النقطة الثالثة ) - -5

 الانتباه الى اتجاه الاعمدة بحيث يكون كما في الرسم. -6

 المطلوب يكون بعضها في سقف الطابق الاول والبعض الاخر في سقف الطابق الثاني كما موضح في الرسم. -7
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Lecture (17) 16/3/2021 
 

The truss showed in Figure  consist of chords W 10× 30 and braces L 4 × 4 × 1/2, using AISC.PRO code and joint 

loads as dead load and dead load factor = 1.4, answer on the following: 

1- Find the reaction.                                                                                                                    

2- Check if the sections are safe or not.     

 
 
 

 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


